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Data Sufficiency

Ggroz DUDS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Maik choice (1) if the statement [ alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c)  Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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What is the cost of fencing a rectangular field?

B BABI'S 6D TS o DaOLL Jod PEdY BPSLoE?

I. The dimensions of the field are 100 m x 75 m.

e Jeoo Sodsen 100 . x 75 Ho.

II. The cost of fencing is Rs. 50 per meter.

28 SABLY D Lo Do 67,50 B>y WPHBES.
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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What is the height of the mountain?

& Foc I20 Joad?

[. Seen from a point A on level with the foot of the mountain the angle of the

elevation of the top is 30°.

Foct Fcso & DATBET &od Dot A 2308 Foctdd Bripd) Ry Foct

Fpdo By S 30°.

II. The mountain is surrounded by a forest.

&5 S'oc WRI” WG Hod.
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Data Sufficiency

Sgrot o0

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an approprate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢)  Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What 1s the cost of the table?

28 2w 8 Jod?

1. 2 tables and 3 chairs cost Rs. 5000.

2 oo, 3 5}6‘)&: 080 dx. 5000.

II. 3 tables and 2 chairs cost Rs. 6500.

Jewes, 2 5}8‘50 08co doe. 6500.
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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How many bricks are needed to construct a wall?

28 B¢ serdd ‘ml Revgen seaed?

I.  The dimensions of the wall are 30m x 2m x 0.5m.

e Socen 30 D x2Hx0.5 5.

II. The dimensions of the brickare 30 cmx 10 ecmx 5 cm.

Pt Secten 30 Do. D x 10 Do. Do x 5 2o, .
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Data Sufficiency

Bgro% DOHS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What is the average wage of the worker in the factory?

es SUﬂén"doefr‘D S8 D5e0 BB Jodd?

I.  The total monthly wage bill of the factory is Rs. 25 lakhs.

& SO7)rBoes” Ddo POL Aore DA & 25 vLew.

II. The monthly salary of the supervisor is Rs. 20000.

:;ciééégad Do a0 doe. 20000.
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Data Sufficiency

BEro? DOHS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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When the value of the two digit number pq is greater than 9. what is that

number?

BoctoSe 2ogf Pq Ded 9 ol ISy DA & Do DA?

I The sum of the digits p + q =11.

Coc wosw 2wdho p+q=11.

II.  The number is a multiple of 29

es "'°°g‘°5 29 cﬂnszj rogdazo.
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Data Sufficiency

Bgro® DO

Note:

(a)
(b)
(c)

(d)

This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

DIPeSS: (963 (59 Sw 2.8 (H%). D (808 L 1T @ thhen fe> Do

IV AT0F0MT  QIJDTAD. WD) ATOFR)
SDTNOD)., BN ) (DTN (D) 50 DIPFT'EV), VD )OS
DTETEN ©HTO BT @ W AFT00d). & AT Gty

80O SrQAG)E Sr@e) GHrNoD (1) OB (4) SO HO
0N B2V DODE DODOA.

(a) DY DPTR0 AP YODB DHID0 I (€50 DTERDONS
N 2572 (1) T HOOB0A.

(b) (D%)50 DSPG°H0 VD )OCDE (DITII0 I S5 DT*ENDONS
N 2572 (2) T HOO0B0A.

(©) (DF) B0 JAFPTH0 FWI0CHH (DI N I, II EO DT°5RD0N
OS2 2583 Ere HOUN0 TENFB N 2 (3) M
DO0H0A.

(d) 1DF) 0 QIFPTS0 QT )OCHH (DSIT°EN I, I O S°E° HOEN0
578 @A) AT 0F0 @SNG0S oD B2 (4) M HO0WOAB.

What is the value of the odd integer p?

£ LrTros P Dend dod?

I 28<7p<49.

L. 27<3p<72.
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Data Sufficiency

BG0% DORS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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What is the sum of the terms in the arithmetic progression?

®083Ae5°d Hore Do Joed?

I.  The first term of the progression is 3,

3é a0, 20 Hso 5.

II.  The number of terms in the progression is 50.

e3 33¢5°D HBH00 oz 0.
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Data Sufficiency

Note: This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c)  Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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How many smdents in the class could not pass in Hindi and Telugu?

& BOHAS°D Dot ok Darden Srode e OCKD Buor &'dr edden
SPGSU A,

I. 12 passed in both Hindi and Telugu.

12 2006 Srob. B Docotdes’ar eddewasrydd.

II. The number of passes in Hindi exceed that in Telugn by 15.

B &° &g T°6 Soés 15 2006 28y Srond’

&8EV0I( .
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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Are two triangles AABC and ADEF similar?

Szderen AABC, ADEF e Hdrdrer?

I. LA=LD, LB=LE

II. LA+LB+LC=LD+LE+LF =180°
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What is the least common multiple of two positive integers a and b?

Bocty 6 Qrgrosten a. b © 8L Jdordy el dosh?

L a and b are distinct prime numbers.

a. bew Sﬁ)arl DD Doagen.

II. a+b=28
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions, Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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o 2872 (2) M HB00A.

(©) (D%) B0 BAFEFS0 QAT )ODBL (DSITEW I, II EHR DT°LHOW
@0 D 2.85e3 Era HOUN0 TENFS D 2 (3) M
oo A&.

(d) 1DFY 50 DIFPTH0 QD YOOI (Dddaren LI EO ST TR0
58 @) OTP0F0 9IDBD0NS D Bar 2 (4) T HOOB0A.

What is the product of the 7 terms which are i geometric progression?

Aoz 3&e5° 200 7 Desdwe wgo dod?

I.  The first and last terms are % and 32 respectively.

1
0068 BT DB DHEHAVLD JET > 32:

II.  The common ratio of the geometric progression is 2.

e 3¢ cIg) edoyd S 2.



Options :
1.1

o %2
3. %3
4. % 4

Question Number : 13 Question Id : 9126062667 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Data Sufficiency

BToF VOGRS

Note: This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢)  Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.

DI (96 (DTS 2,8 (59). O (808 L IT @ Xyex 1o Do
1DBTeD STOFOT QI FDTOAN. YWY AT0FQ)
EHTNOD), AN (DIITEN (D)0 AIPTTRY VD )JOCVE
DO ©HS0I B @ 0B AFT00wd). & T Beadd

8o SrGANE)E Qr@en &HAFN0D (1) DO (@) SB% OO
©ONA B2V DONE DANOB.

(a) D% AFT'H0 AT YOOI [DHIN0 1 AF(€Had) DO°FRDANS
) Bar2 (1) ™ HO0B0A.

(b) (9% 50 DAPTTH0 QT YOO [DIIS0 IT (€633 DTERHON S
N B (2) T HBoOA.

(©) DN AAPTI0 AT HI0E [DIWREN L I O HDT;a0N
©0HS” D 2,883 Sre@ HoPN0 TENE D 2 (3) T
HOoB0B.

(d) (%30 QITFTR0 QT JONHY |3 e L IT EOR) G HT N0
55 €90538) BTO0F0 93BNV &) 2a2) (4) M HOOIOAB.

In the adjacent figure, L PRT = _ TRS.

Is PQ parallel to TR?

SERSEN D05’ L PRT = L TRS.

PQ. TR en dasrodtorer?

I. PR=QR.

II. PR=PQ.



Options :
1.1

o %2
3. %3
4. % 4
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Data Sufficiency

GZro? DO

Note: This question is followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following gidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

B TS: 156 104 S 2,8 1H4). o (80 1. TT @ Hilen & Boch
(DADTLD ATOFOMT RIJATON. AD)N AT0TV)
SITNOD, AN ) (DS EN (HFY H DFT'OR) DT )0HE
ST EN @HTOT BT @ A ATO0TE). & IS

1806 IrOAGE8 AFEeD &HTITNOD (1) OB (4) I6% HO
0N B2V DODE BAHOA.

@) DFY50 OATTH0 AD YOOI (DHTIN0 T 475 NDT*{RDONS
o 25720 (1) 7 (HO0B0AB.

(b) 1% 30 QATTTH0 DT )0 (HIHH0 I ST (D) DTS QDO ES
) B> 2) T MHO0B0A.

(©) 1D%)30 DIFTS0 9T IOCHB (DSTIT N L, II O HT5000
@0 D .58 Hra HoYN0 TEFS N 25720 3) ™
HO0B0A.

(d) 1090 QITPTH0 QT HOCNEY (DIIPEN L I 0 0@ DT*E0
58 @0598) ST 040 @HDBHONS ad Barad (@) M Hood.

In an clection contested by three candidates A. B and C. how many votes

are polled by each A. B and C?
A B. C a0 '@ Dcoaos) w8 d186° A, B. C g’ 28,588 I &to
Deeow?
G

I. A got 1000 votes more than B and B got 1500 votes more than C.

C o83 B < 1500 260 .‘)snzja 20daiw B sod A = 1000 .60 JJS)ba
SEEyOD.
II. A total valid votes polled is 19000.

Ao TS Lew 19000.



Options :
1. %1
2. % 2
3.9 3
4 % 4
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Data Sufficiency

Bgro# DTS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d)y Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

QIPT5S: (963 (¥ S 2,8 19%). T 1§00 L 1T e Hen (i) DO
RDIDVTEN ATOFOT QYIZATON. WW)IN ATOFR)
SN0, YDA (DTN [DF) 0 DITFTarR)) RD,)00H
HO AN ©HB O BT @ DG ATO0T. & DTSty

8OO SrPBHE OF@e) &HTN0D (1) OB @) S8% HO
0N BTN DONE DADOA.

(@) (DFYB0 DITTH0 QAT )YOCDHH (DSHVX0 I SF(H3D DTN DONS
D 2 (1) HOoBod.

(b) (5% 30 D0 QT )OCNIH (DITIN0 I (€53 DTSR DO S
QD 28720 (2)  HOoBoAB.

(©) 1DF)E DSTPFH0 QD HOHE (DITIT N L I O DTERDON
©oS D 2583 drm HoEN0 TESS H 2w @) ™
HOoWBOA.

(d) (9%)30 DTS00 AT YOOI (DTN LI EOJ ST D050
58 @938 OTP0F0 @IHIGHONS Q) 23720 (4) M HOO0B0A.

What is L Q in the given triangle? »

@D G0 L Q does?

I PQ=8cm.PR=10cm. LR=75"

PQ =8 0. &. PR=10 0. Do. LR=75"

I. LP=60". QR=9cm.

LP=60" . QR =9 0. .



Options :
1.1

o %2
3. %3
4. % 4
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Data Sufficiency

Sgro® oS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.

ArSas: (06 %) 2.8 (59). o° (804 I T @ Hken fe> Dok
IOIDT D ATOFOMT QAH[OTON. AVIN ATOT),
GATPAOD. D) (DDDTEN (DF) 50 DT AT )0CDI
DOETEN T ST @ DB AT00d). & JIT S5

80O HrG88 Sr@e) GHIBNoD) (1) HOB @) 8% OO
0N 2267720 DO0NE DODOAE.

(a) (DFLEO SSIPTS0 ATIOCDH (DSDS0 T (€523 DT§N0WS
&N 2w (1) ™ HO00A.

(b) (DF) Y DTPTH0 BT YOI 1DITIN0 I (€5 DTNV S
o 23572 (2) ™ HB 0O A.

(©) ¥)3) DIFTO0 W )ODH DIITEEN I, I TR DT5ReD0W
@0 o 2888 Srm@ JoEN0 TENB 2 252 (3)
0000 G.

(d) 10%)30 SIFPTTH0 ATYOCHE (DTN LI EO T ST°ER0
8 @GP0 STOF0 @9DBNONS D B2 (4) T HOOS0A.

Is n a prime number?

1 28 DT :‘ooar}g?

I.  nisofthe form k*+4, k> 1.

k* + 4,k > 1 8506 1 DI 8.

1I. 1nis of the form 4k + 1.

4k +1 6200 13 6.



Options :
1.1

o %2
3. %3
4. % 4
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Data Sufficiency

Sgro% DORS

Note: This question is followed by data in the form of two statements labeled as 1
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Maik choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

APLSS: 198 19%) S 2.8 199). O (806 L II @ Hen fe) Do
DIVTEN GTOFOMT  QIJATOW. JV)I)D OTO0FR)
GOTTNOD). D )N [DSTITED (D) F) DIPTH ) N YOS
DO°LTEN @A B @ B AFT00TE. & AT G

80O SrGG08 Ar@e) GHTNoD) (1) O (4) B8 DO
0NA B2 D0DE DONOB.

(a) DFLI DIPTRH0 VD IO DIDID0 I S5 DTEReN0NS
3D 2720 (1) ™ HO0B0A.

(b) 1¥)30 DTN DD HONEY (D630 I (€553 DT ERDONS
3 23520 (2) T MO0,

(€) DT DITPTH0 AT )ODI 1DSDITEN L. I FOR DTN
©OMNS D 2,563 @ HOUN0 TIFS D Borey (B) M
MO0B0A.

(d) (¥ DTTO0 WD YO (DIDTEN LI EO ST TR0
58 90 OF0F0 @IIGDONS oD BT (4) M (HO00B.

If a. b. ¢ are integers. is 3(a+c) + b divisible by 3?

a.b.cen ng"o?vana 3(a+c) + b o3& 3 & errhocdeacodone?

L b 1s divisible by 3.

b. 3 & erfoderco.

II. a + b is divisible by 3.

a+b. 3 B arfodercod.
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1.1

o %2
3. %3
4. % 4
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Data Sufficiency

BGro8 DO

Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

DIPTSR (5963 (599 S 2.8 (H9). T 180 L 1T @0 Hihexn e Do

DIV ATOFOMT  QILDTON. QW) AT0TW)
GHTNOD. D) (DTN (%) 50 DIFT'RR), QW,)JOHE
DO EN ©HT0* BE® @ B ATV, & TG

80A QNGB8 Sr@ren GOTEN0D (1) OB (4) SB5 OO
0NN B2 DODE DODOA.

(a) 1D¥)B0 IR0 BB )YOOH [DIIDN0 I SP(ehad) DT°§RDONS
oD B2 (1) T HOO0B0A.

(b) D% 50 DTN YD YOOI HDIIDN0 I (€53 DTFRDONS
o B2 (2) ™ HO0B0A.

(©) DFYEH0 DTN [T YOO (DaIdmren I, I FO HT°ERDON
©ONS & 2883 Srm o0 TEFS D Raraw (3) M
DHO0D0E.

(d) 10930 DATPTH0 Q)OO (D3I I, I R ST HT°ER0
578 @93 BOTOFO0 ©9IHDBNONS & a2 (4) M HOOV0A.

Is the triangle AABC equilateral? (a. b. ¢ are lengths of the sides of the

triangle).

Sz020 AABC dverimo Sz02557 (a. b, ¢ e Szba Fowrw JddHen).

T a’

1L a?

+hr etz 0.

+b? +¢? = (ab + bc + ca).
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1. %1
2. %2
3% 3
4 % 4
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Data Sufficiency

Ggros DO

Note: This question 1s followed by data 1n the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d)  Mark choice (4) if both the statements I and 1l together are not sufficient to
answer the question and additional data 1s required.

Hoeesed: (06 (HF) S 2.8 (59). T 180S L 1T @ Hhen Ko Boch
DIWVTED OTOFOT  JIJVTOW. IVIO  AT0T)
EATNORD). DI [DIIVEN (DFYE ATHTRR) QT3 )JONE
DofTren @HB oI B @ & AT00TO). & JT°Badd

1808 GG QFEren SHTrNOD (1) DOB (4) VK HO
0N B2 DOE TODOA.

(a) (DFYB SIS0 FTYOLHE (DDDRN0 T SP|ehadd DTEHON
N 23aren (1) HOooAB.

(b) 12%)50 DIPTR0 QD YOI (DSIS0 I AT DT°5aD0NED
) 22 (2) M HOOBOA.

(€) DFYBO ISPETI0 BT YOCHH (DSITIT®ED I, I EOD HT500N
©@oNS Q) 2883 SrE HOTN0 SEFS H zaen (3) ™
MDHOoB0A.

(d) (DF)YB QIFFTF0 QD JOE |NSITeN L 1T ) ST HTER0
5% @9¢998) STP0F0 @950 GHANS & 23er2 (4) M HOoIoB.

How much time will it take for two pipes A and B to fill a tank which 1s half
full?

R0 Docore &3y G QP Aodeedd Gocd Daspen A, B 0 doed
=)0 DEDBH?

T A can fill the empty tank in 12 mimites.

O D) FB820 12 Dawares” A Dodsoc.

1L, B can empty the full tank in 8 minutes.

Do D) SG § daward” B ar? Scbrod.
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1. %1
2. % 2
3% 3
4 ¥ 4
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Data Sufficiency

Bgros DORS

Note:

(a)
(b)
(c)

(d)

This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

QTS d: (983 (D9 S 2.8 (99). D (808 L II 0 tHiYex e Bockh

AT ATOFOMT  WJJATAN. AD)YD AT0FWR)
SHDTINOD. VDA |DITIT°EN D% 0 DIFTRR), 2D )OCHEL
DTLTEN OHTOI® B @ DB ATO00T. & JTBLa%

80O SrGGE8 Sr@ren G&HPN0D (1) OB (4) S8% OO

0N BTN DONE DONOA.
(a) [DFY 50 QIFPTH0 AT YODH (DDTIN0 I &SF(€5a3) DT°ERDONS
D 22D (1) ° HOo0AB.

(b) (%) 50 QT HI0 QS YOCDEY (DeITIH0 II 56503 DTERDONS
) 23672 (2) T HO0B0A.

(©) (DF)H0 DPTH0 QT )ONHY (DI N I, II EO HT5ReDON
0SS ) 283 ErE HOUN0 TEHFS o Barew (3)
DO0V0E.

(d) (%)50 DSFTO0 QB JOCHHY (D3IeN I I EOR) TG DTS00
58 @) OTPOF0 9IGE0NS o) 238720 (4) M HO0I0A.

n and m are real numbers. Is n? < m2?

n, men SRD dowjew. n¥ < m’ wHB?

I. m=>0

II. n< m



Options :
1. % 1
o %2
. %3
4 v 4
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Problem Solving — Sequence and Series

AR FGD — evA0gIT, Fevew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Jrtde: (DA (DA ST ADIS dopsen M e@foren Ml &8
BHAODS AONSTY), aFSNTION. DN (NS P
QDN T DDITO OB D0 ANS B2 DAY TV
D5 AODSTPVE 23010 iiSvom oo,

Mouse : Cat :: : Tiger

deosg : > <)1)

(1) Deer (2) Lion (3) Grass (4) Forest

208 oo o) d% e9¢ia)

Options :
1.v¥1

o ® o
3. ¥ 3
4 % 4

Question Number : 22 Question Id : 9126062676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series
AR GO — evRgaT. Srew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

100 : 9999 :: 60 :

(1) 6599 (2) 3999 (3) 6999 (4) 3599

Options :
1.%1
o %2
. %3
4 v 4

Question Number : 23 Question Id : 9126062677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

BRZ : 23826 :: EXRT -

(1) 3R 19 (2) 4 ®19 (3) 5®20 4) 5 ®21

Options :
1. % 1
o %2
2. ¥ 3
4 % 4

Question Number : 24 Question Id : 9126062678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

READ : DEAR :: : PINK

(1) PNKI (2) PKNI (3) KNPI (4) KNIP

Options :
1. % 1
o %2
. % 3
4 v 4

Question Number : 25 Question Id : 9126062679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

RBOIY GO — evRgaTe. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

75632515 8

(1) 128 (2) 125 (3) 132 (4) 135

Options :
1. %1
o %o
. %3
4 v 4

Question Number : 26 Question Id : 9126062680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

TRERL ¥ 7ol nll )

(1) 600 (2) 728 (3) 700 (4) 712

Options :
1. % 1
2.2
. %3
4 % 4

Question Number : 27 Question Id : 9126062681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

DRIVER : ESJWES :: HELMET :

(1) FINMIS (2) FGONGS

(3) IFMNFU (4) IGNOGU

Options :
1. % 1
o %2
2. ¥ 3
4 ® 4

Question Number : 28 Question Id : 9126062682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

LEJT : ‘o 3 . hef

(1) EDC (2) DCE (3) ECD (4) EDB

Options :
1.¥1

= B2
3 ® 3
4 % 4

Question Number : 29 Question Id : 9126062683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

RBOIY GO — evRgaTe. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

o nin$E) . ’
Eal 1= 0 30 Ll
2 2
(1) n (n4+1) (2) n(n+1z(:n+2)
2 42
3) (n+1)°(n+2) () n(n+1)(Zn+1)
4 6
Options :
1. % 1
o %2
. %3
4 v 4

Question Number : 30 Question Id : 9126062684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

RBOIY GO — evRgaTe. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DB (DS AD)S dopgen M) eforen Ml &8
BHAOS ONITFY), aFESDTYON. DB (DS 9D
QDD T DDITO OB DO ANS BDP2DAD DAY SR
DB AODSTVE 230150 EOHB0T O oTTE.

54 : 88 :: 180 :

(1) 218 (2) 228 (3) 248 (4) 238

Options :
1. % 1
o %2
. %3
4 v 4

Question Number : 31 Question Id : 9126062685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : From the question. pick the odd thing out :

HONE : D) OS HOFOIA HOOTHAW :

Note : In questions numbered 31 to 35 pick the odd thing out :

HA0DE 1 31 Aock 35 HED U D) OS" VBT'VIS BoLOW

(1) (3.4.19) (2) (4.5.29) (3) (5.6.43) (4) (6.7.55)

Options :
1. % 1
o %2
3.3
4 % 4

Question Number : 32 Question Id : 9126062686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HORE : 1D OS HOFOIO HOOTDAW :

(1) February (2) July (3) May (4) November
228258 L3 a0 Ddoed

Options :

1.v1

o ® o



3. %3
4. % 4

Question Number : 33 Question Id : 9126062687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HOE : (DF)OS" HOFOIA HOOTHAW :

(1) Sphere (2) Square (3) Cube (4) Cone

Ao 30600 Hdo $0209)

Options :
1. %1
i
3% 32
4 % 4

Question Number : 34 Question Id : 9126062688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :
HHNE : 19SS HOFOIA HOOTDAW :

(1) 15 2) 17 (3) 19 (4) 23

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 35 Question Id : 9126062689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : From the question. pick the odd thing out :

HONE : 1) OS HOFOIAO HOOTHAW :

(1) 56 (2) 42 (3} 77 (4) 45

Options :
1. % 1
o %2
. %3
4 v 4

Question Number : 36 Question Id : 9126062690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HDE : (D3 1H9)S 2.8 PDIBDS JONATY) eI DT) 0. €3
DOPATY) B0 HOOHH  DITPTHOS FFPOD
J*O0S0AR.

Note : Each of the questions from 36 to 45 follow a definite pattern. observe the

same and fill in the blanks with suitable answers.

HEOAE 1 36 Doc. 45 S6D o DI e WS an&()@@:é QS éﬂﬁ‘gjaﬂlon.

a:}o:bar.?.}l ($20o) HBOLA DATTTOSE PO LITPOBOE.

2,329 17 33,

(1) 58 (2) 63 (3) 65 (4) 56

Options :



1. % 1
o w2
3. v 3
4 % 4

Question Number : 37 Question Id : 9126062691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
J*OOS0R.

9. 101, 999, 10001, . 1000001, 9999999

(1) 9999 (2) 99999 (3) 999999 (4) 9999999

Options :
1. %1
2o
3. %3
4 % 4
Question Number : 38 Question Id : 9126062692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HoORE: (D3 1591 2.8 PDIBDS JONATY) I e3DT 0. €3
DOPATY) B0  HOOHWH  DIPTTOS FFPOD
000,

(26.28.27). (22. 24, 23), (18. 20, 19). (14, 16, 15).

(1) (12,11.10) (2) (10,11,12)

(3) (10.12.11) (4) (12.10.11)



Options :
1. % 1
o %2
3.3
4 % 4

Question Number : 39 Question Id : 9126062693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HDE : (D3 1H9)S 2.8 PDIBDS JONATY) eI DT) 0. €3
DOPATY) B0 HOOHH  DITPTHOS FFPOD
J*O0S0AR.

s di3y 2l 315 43,57,

(1) T3 (2) 72 (3) 70 (4) 69

Options :
1.v¥1

o ® o
3 % 3
4 ® 4

Question Number : 40 Question Id : 9126062694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the
blanks with suitable answers.
HRE: (D 1H9)S 2.8 PDIBDS JONATY) eI DT 0. €3

DOPATY) B0  HOOHH  DIPTTOS FFPOD
JPO00A.

24.5. 18.0, 125, 8.0, ;2.0

(1) 35 (2) 4.0 (3) 45 (4) 5.0



Options :
1. % 1
o %2
3.3
4 % 4

Question Number : 41 Question Id : 9126062695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HDE : (D3 1H9)S 2.8 PDIBDS JONATY) eI DT) 0. €3
DANSTRY  HHA0D  DOADWH DT OS FROD
sy 00504,

Z 8 11

= L,
(1) % (2) ;—ﬁ B) (4) 1—§

Options :
1. % 1
o %D
3.3
4 % 4

Question Number : 42 Question Id : 9126062696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
0004,

L XNGL BN L

(1) M 2) X (3) H 4) 7

Options :
1. % 1
o ® o
3. ¥ 3
4 % 4

Question Number : 43 Question Id : 9126062697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: (D 1H9)S 2.8 PDIBDS JONATY) eI DT 0. €3
DOPATY) B0  HOOHH  DIPTTOS FFPOD
P00 0A.

(1) 85 (2) 92 (3) 107 (4) 110

Options :
1. % 1
o ® 2
= ¥ 3
4 % 4

Question Number : 44 Question Id : 9126062698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
000G,

3.4.6,8.9,12,12, 16, 15, 20, 18,24, 21,

(1) 27 (2) 26 (3) 24 (4) 28

Options :
1. %1
o %2
. %3
4 v 4

Question Number : 45 Question Id : 9126062699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPSTFY) B0 HOOHH  DITPTIOS PO
000G,

108909310, 11, 3,

(1) 10 (2) 11 (3) 9 4) 12

Options :
1.%1
o %2
. %3
4 v 4



Question Id : 9126062700 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 48)
Cuestion Lakel : Comprehension

Problem Solving — Data Analysis
B0 Fed — OTOF DINE

Note: The following graph summarizes production and export details of an industry
over the past 6 years 2011 to 2016. Based on the data given in the graph

answer the following question.

A0eSS: 2,8 DOIFD 11ed €385 D038 )T ) 2011 — 2016 65’ e Y
SO DN DHT* D DO|HToM & 80O Dgr D HOS
QS ST ON. &2 1800 Bgr DSOS 90T ST SO
DT O (D7) 50 Barad QD S0A.

90

. \
50 / \ \

/ \ e EXPOT
« / Production
.
30

20

10

2011 2012 2013 2014 2015 2016

Sub questions

Question Number : 46 Question Id : 9126062701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



For the years 2011 to 2016 what was the approximate percent of the total

export in total production?

2011- 2016 Rodorees” Dudho e 36" 20do LS Foo VAT

Dodh?

(1) 56 (2) 55 (3) 54 (4) 53
Options :
1.91
2. %2
3% 3
4 % 4

Question Number : 47 Question Id : 9126062702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was the percent increase in exports from 2011 to 20147

2011 200D 2014 £ drdodow 98 T*Bo odh?

(1) 200 (2) 220 (3) 250 (4) 270

Options :
1. %1
2. %2
3.¥ 3
4 % 4

Question Number : 48 Question Id : 9126062703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In which year was the ratio of the production to the exports minimum?

D DODH 0" DAEAVLL), &S D NG SO Hod’?

(1) 2011 (2) 2012 (3) 2015 (4) 2014

Options :
1. %1
2 = 2
3% 3
4 9 4

Question Id : 9126062704 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)
Duestion Label : Comprehension



Problem Solving — Data Analysis
230y Fed — GT0F DBNED

Note: The following Pie chart details the expenditure under various heads of
accounts of an Autonomous Unmiversity. Based on the data given in the chart

answer the questions 49 to 53.

DD 6 08 DT DB DS 28 DADODIDS (O DEDE (RS D DDDY
DEOLD PEN® DIT VR AFDWCR. & dgroso esprdorr 49 Aoc. 53

DO (L DI O DATTTL (DBoWOC.

B A, salaries &oren

B E. Misc Expenditure medor

A0E0 80

HD. Irﬁrastru-:ture Development
A Heovarairen

M C. Administration Expenses
ST ool e

B B. Learner Support Services
3@55 S0CiERy Taaden

LA [~}

Sub questions

Question Number : 49 Question Id : 9126062705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If the annual expenditure 1s Rs. 24 cores. then the amount of money spent of

Learner Support Services is (in crores of Rupees).

3D oo &r. 24 e wond De(6 eS80 DIwD DDodD wdy (85
0) = & = e)

g6e5°)

(1) 4 2), 5 (3) 5.5 (4) 6.5

Options :
1.¥1

o %2
3. % 3
4. % 4

Question Number : 50 Question Id : 9126062706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage expenditure spent under the Head E 1s how much more than the
expenditure spent under the Head C?

E dertio So&s 8060~ be{;é&: C Dertio Sodd 8000~ bgé T°a) S0t docd Toho

g0’

h

(1) 33§ (2) 66% (3) 50 (4) 2

Options :
1. %1
=2 ¥z
3 %3
4. % 4

Question Number : 51 Question Id : 9126062707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If in a particular year the expenditure under the head A 1s Rs. 3.6 Crores. then

the amount of money available (in Crores of Rupees) for head D 1s ?

28 2oDB 605" A Dardo $ods wBy . 3.6 e wand D Dereds

Séranod 230 (6. §ees’)
(1) 2.5 (2) 2.9 (3) 3.0 (4) 3.1

Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 52 Question Id : 9126062708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heads under which 16 % % of the total expenditure spent 1s?

20cho a:.ud:&@*" 16%% DEN BOD DT Tren?

(1) E (2) C and E together

(3) C and D together (4) B

Options :
1. %1
2. %2
3 %3
4 ¥ 4

Question Number : 53 Question Id : 9126062709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If n a vear the expenditure under the heads C and E put together is Rs. 8
Crores then the total expenditure on the rest of the heads put together i1s (in

Crores of Rupees)?

28 DoDBYG0S” Dermren C. E 0w ¢85 wand eddy 6. 8 én wond

Qe Dermrody 0B $DBD oy (6. §'ere5°)?

(1) 36 (2) 32 (3) 28 (4) 24
Options :
1.%1
2 %2
3.¥'3
4 % 4

Question Number : 54 Question Id : 9126062710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Data Analysis
20y FBd — OT0F DINE

In a group of 100 people who watch sports in television., 10 people watch
neither cricket nor foot ball. The number of people in that group who watch at
least one of cricket and foot ball 15?

B892 ° st Brd 100 H0d fo DAFT0es’ 10 Hod £385 Ho. DS

23765 BodoBR) BIEE. &3 DITIToes” S35, )85 ee5 065’ Do wE T ADT

mhaﬂﬁa f-aoa::é‘?

h

(1) 90 (2) 85 (3) 80 4) 7

Options :
1.9 1

o %2
3. %3
4. % 4

Question Number : 55 Question Id : 9126062711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Data Analysis
R0y FBd — OTOF VBN

For any set S. let n(S) denote the number of elements in S. For A € S, let A
denote set S-A. If A, B. C are three sets such that n(A) = 80. n(B) = 46.
n(C)=38. n(AnBNC')=20. n(BNhCNAY=9. n(ChAnB')=13.If

nAnNnBNC)=1 then. (AUVUBUC)=

DB AWA S L 1(S) WIS S S°JAreusTY VoD BrIPAS. ACS wand

Al 0358 S-A D 2rdosEod. Hurcd DBV A. B. C eo n(A) = 80.

n(B)=46.n(C)=38.n(AnBNC')=20.n(BnCNA"Y) =09, n(Cn
ANB') =13 28cswon(ANBNC)=1 oo n(AUBUC)=

(1) 115 (2) 120 (3) 128 (4) 137
Options :
1.%1
o V2
3 %3
4 % 4

Question Id : 9126062712 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)
Duestion Label : Comprehension



Problem Solving — Coding and Decoding Problems
P20 Fed — SGoh, ASGOR D5

Note: In a code the vowels of the English alphabet A. E. I. O. U are coded as 05. 04,
03. 02. 01 respectively. The consonants B. C. D. F. G. ........ X. Y, Z are
coded as 26, 25. 24, 23,23, 22. ....... 08, 07. 06 respectively. Basing on this

code answer the following question.

Dreeded: 2.8 58 S 0NN @S 35r0S' @t )en A, E, I 0, U O
HBOM™ 05, 04. 03, 02, 01 TPSF, FPEVEN B.C.D.F. G. .......X. Y. Z
) SO 26, 25,24, 23,23.22, ....... 08, 07. 06 T 5§ D3°K. &3
5§86 e G0 BN 1% 50 2D 0B

Sub questions

Question Number : 56 Question Id : 9126062713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code for “WATER’?

‘WATER' £ §& D&?

(1) 0905110414 (2) 0905110513

(3) 0905110313 (4) 0905110413

Options :
1. %1
o ® 2
. %3
4 v 4

Question Number : 57 Question Id : 9126062714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Which word 1s coded as 032504117

D DHcso 03250411 - & S0 o0d?

(1) ECHO (2) ICES (3) ICET (4) IGET

Options :
1.%1
2 %2
3.¢¥3
4 % 4

Question Number : 58 Question Id : 9126062715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code word for ‘SPIN’?

‘SPIN” £ §& D0 D&?

(1) 12150416 (2) 12150316 (3) 12150317 (4) 12150415

Options :
1.%1
=2 ¥z
3% 3
4. % 4

Question Number : 59 Question Id : 9126062716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word is coded as 10031205227

1003120522 e  Hddo §& SoerGod?

(1) VISAG (2) VIZAG (3) VISAK (4) VIKAS

Options :



1.¥1
2 %2
3. % 3
4. % 4

Question Number : 60 Question Id : 9126062717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What i1s the code for ‘TUBE™?

‘TUBE’ & §& &7

(1) 11012605 (2) 11012603

(3) 11022604 (4) 11012604

Options :
1. =1
2 = Z
3% 3
4. 9 4

Question Number : 61 Question Id : 9126062718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fed — FAON, ASBON DN

In a certain code. if ‘SISTER’ 1s coded as ‘RHRSDQ’. then the code for

‘BROTHER " 15?

2,8 §6& ¢5° ‘SISTER’ & ‘RHRSDQ’ o~ £& 8. ‘BROTHER' & §&?

(1) AQNSIDQ (2) CQMRJEQ

(3) CSNQJES (4) AQNSGDQ

Options :
1. %1
R
3. %3
4 v 4

Question Number : 62 Question Id : 9126062719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fas — FAON, BFBOR DN

If ‘COMPUTER’ 1s coded as ‘OCPMTURE’. then the code for

‘CALCULATOR 15?

‘COMPUTER" & ‘OCPMTURE’ re §& &%. ‘CALCULATOR® & £&2?

(1) ACLCLUATOR (2) ACCLLUTARO

(3) CACLULATOR (4) CCLLUATARO

Options :
1. % 1
2. 2
3 % 3
4 % 4

Question Number : 63 Question Id : 9126062720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
220 Fas — FAON, AFBOR D3N

If ‘CRICKET is coded as ‘HWNHPJIY . what word 1s coded as ‘GFYXRFS™?

‘CRICKET" &> ‘HWNHPIY'rme §& 8% . ‘GFYXRFS' m™Q ddo §&

woeeod?

(1) BAMSTAN (2) BASTMAN (3) BANSTAM (4) BATSMAN



Options :
1. %1
2. %2
3% 3
4 v 4

Question Number : 64 Question Id : 9126062721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
220y Fas — AN, AFBOR DO zeN

If the code word for “WARANGAL 1s ‘XZSZ0OFBK". then the code word for

‘NALGONDA" will be?

‘WARANGAL® & §& Hdo ‘XZSZOFBK' ewowéd, ‘NALGONDA® & £&

D507

(1) OZMFPMEZ (2) MBKHNOCB

(3) OBMHPOEB (4) MBLFMEZ

Options :
1.v1

o ® 2
3. % 3
4. % 4

Question Number : 65 Question Id : 9126062722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Coding and Decoding Problems
220 Fas — FAON, BFBON DN

If “‘SOFT’ is coded as 19150620. then what is the code for ‘HARD?

‘SOFT’ &0 19150620 = §'& 8. ‘HARD® £ §& D6s0?

(1) 08011904 (2) 07011804 (3) 09011904 (4) 08011804

Options :
1. % 1
o %2
. %3
4 v 4

Question Number : 66 Question Id : 9126062723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems
R XD — B, DeDADO. DO DsAZEN
If today 1s Sunday. what day of the week it was 123 days before?

& B 38760 wond, 123 e o Sar o°6085°D O Bz e9dHehood?

(1) Wednesday (2) Thursday (3) Friday (4) Tuesday

2B TG0 LdoarCo S l=Fuilels o¥aCo

Options :
1.v¥1

= B2
3 % 3
4 % 4



Question Number : 67 Question Id : 9126062724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems

RV FGD — B, DNONO. e:NOFS DeDDFEN
At what time, between 5 and 6 o’clock. will the two hands of a clock be at right
angle?
28 (EAIr60S” 3, 6 (ofe 6]  DICI0ES” TS Bocd JLRN

2028 £3005° &obran?

5 5

402 + & 5 40 =

(1) 40 = past : 5 =8 40 =

2) 422 pasts 5 o422

11 11

7 7

3) 43 — t5 5 =

(3) 43 7 past 5 oréd 43 =

4 4

4) 39 — ast 5 5 39—

(4) 39 T past 5 o8 3 =
Options :
1.%1
o %2
3. v 3
4 % 4

Question Number : 68 Question Id : 9126062725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

A XD — B0, DHADO. HBES DN ZEN

At what angle the hands of a clock are inclined when the time 1s 4.20?

208 (Ea3G0e° 4.20 WoBIHYEY B0V G| o dod?

(1) 1ot (2) 129 (3) 8° (4) 209

Options :
1.v1

o ® 2
3. %3
4. % 4

Question Number : 69 Question Id : 9126062726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBFY XD — B0, DHADO. DB DN ZEN

A is the father of two sisters B and C: E 1s the mother of C: F 1s brother of E:
and D is the wife of F. How B 1s related to F?

RG> J'esdveen B, C 0 o A: C £ E 08: E £ J'asdoed F: F 9 e3¢y

D.F & B £ %ooco D7

(1) Nephew (2) Niece
S00e0 S0HE e
(3) Daughter (4) Son
SOt 505
Options :
1. %1
o V2
3. %3
4. % 4

Question Number : 70 Question Id : 9126062727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBFY XD — B0, DHADO. DB DN ZEN

A tramn T, leaves from A towards B at 2.45pm with a speed of 50 kmph. A
train T> leaves B at 1.35pm goes on a different track at a rate of 60 kmph
towards A. If the distance between A and B is 510kms. at what time distance

from A T; meets T,?

208 Bew T; 50 8. Q. (fo Dfod A &0 B D 2.45 pm £ 205e08808.
208 gen T, 60 8. Q. do Dod B 200d A s 208 dEre Qcorre 1.35
pm £ e00end0ed. A. B v 208§ drdo 510 3. . wond. A Aol dodd

Ardoes” T Th ey genitn&otran?

(1) 200 km (2) 210 km (3) 240 km (4) 260 km

Options :
1.v1

o %2
3. %3
4. % 4

Question Number : 71 Question Id : 9126062728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBOFY FGD — B0, DDA, ©NOE HaFEN

A person starts from a point A and travels 3km towards B and then turns left
and travels thrice that distance to reach C. He again turns left and travels 5
times the distance he covered between A and B and reaches his destination D,

The shortest distance between his departure point and destination?

28 38 A 200D w0oDendd 3 4. D. B p) Hoirsied. e 88A 3 Bk
DE) O drdo Hadredod C &0 DEODOT) 2. VB ;h.)‘f’a DS KON A. B o
2065 BroeIS 5 B crdo HoIrEiod) @B djo D A S8 . s

2)030eE0 & guo Ao D £ sag Aroo?

(1) 18 (2) 16 (3) 15 (4) 14

Options :
1. %1
= %z
3.¢3
4 % 4

Question Number : 72 Question Id : 9126062729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBOFY FGD — B0, DDA, @NOEE HaFEN

Seven children A. B. C. D. E. F and G are standing in a line. G is to the right of
D and to the left of B. A is on the right of C. A and C have one child between

them. E and B have two children between them. Who 1s exactly in the middle?

7 660 dpen A, B, C. D. E. F. G a0 28 56006° JeoyT) . D € AR
208ai0 B £ e 21 G . CH DA 2 ApTyd. A Co
QE] WS P Co. E.Be QE] AGD DT . D Fe QDG RSO
DT . &5 DERD GES” DDGOT) &7

() E (2) D (3) G 4) C

Options :

1.v1

2. ¥z

3. %3

4 % 4

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct

options are chosen.

Question Number : 73 Question Id : 9126062730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

A XD — B0, DHADO. HBES DN ZEN

If o is defined by aob = E $ byao b= z%b — 1s defined by a—b = ab.
(5505)=(77 47) _
then (2o3)-(4¢5)
_a—b T - (5505)-(77¢7) _
aob s B b —. a b = ab. e 6N, WPy e
-5 9 5
= (2) 1 @z @
Options :
1. %1
o % 2
3 %3
4. ¢ 4

Question Number : 74 Question Id : 9126062731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBFY XD — B0, DHADO. DB DN ZEN

If +means =, —means+, X means—, and / means X. then the

value of the expression
[{(17 x 12) — (4/2)} + (23 — 4)]1/9=

4 00085 + D), — 903 + 9D, X 905 — e9D), / 083 X 9D, 0 0E 083,

[{(17 X 12) — (4/2)} + (23 — 4)]/9 Dewd doed?

11 e 12 ] 13 15
W5 @ < @)~ (4) =

Options :
1.% 1
= %z
3.¢3
4 % 4

Question Number : 75 Question Id : 9126062732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBFY XD — B0, DHADO. DB DN ZEN

For integers a and b. if
aAb= (a+b—3)2+1then(1A2)A(1A2)=

rgros Ddojen a, hbwsaldb = (a+b—3)* + 1 wond,

(1A2)A(1A2)=

(1) 0 (2) 1 (3) 2 (4) 3

Options :
1.%1
= %z
3.¢3
4 % 4

Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9126062733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &m%a

-l

(256)3F (165 =

(1)1 (2) 2 (3) 3 (4) 4

Options :
1.%1
2. %2
3% 3
4 v 4

Question Number : 77 Question Id : 9126062734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
908(IE3d e8¢

@
e A | W I | N W
Ifﬂ—l—b-i—(f:{]ﬂlenxab = T bee gt bTE" =

e N o N | = U
a+b+c=[}@maxﬂb S bZe ™ b™"e? _

(1) 0 2y 1 (3) x3 (4) x?

Options :
1. %1
2. %2
3.¢3
4. % 4

Question Number : 78 Question Id : 9126062735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

42 +13y* + 922 =12y(x+2) = x: y:i z =

i) 23 (2) 2:3:1 (3)4:6:9 (4) 9:6:4

Options :
1.%1
2 %2
3% 3
4 v 4

Question Number : 79 Question Id : 9126062736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d aemgaa

The ratio of the present ages of A and B 1s 2:3. B 1s 6 years older than A. The
ratio of their ages after 8 years will be?

A. B © D208 Haioy Iyd 2:3. A €3) B 500:048° 6 Doddoren D. 8
R0DB\TPL BRI T°8 SO i G?

(1) 7:8 (2) 8:9 (3) 10:13 (4) 13:1

.

Options :
1. %1
2. %2
3.¢3
4 % 4

Question Number : 80 Question Id : 9126062737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &m%a

Ifﬁ—l—ﬁ:13311dﬁ—ﬁ=7then\fx—=‘?
Vx+fy=13. Vx — Jy=Twond [xy=?

(1) 30 2) V20 (3)V30 4) 3v2

Options :
1.v¥1

o %2
3. %3
4. % 4

Question Number : 81 Question Id : 9126062738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d &m%a

. V3—1 _u’§+1 a’—ab+b? .
If a= i and b= 1 then the value of ———- 1is
F-1 3+1 a‘—ab+h*
a= '"'f_ . b= { oy ———— oS, ens?
V3+1 Vv3—1 a“+ab+b=
5 13 13 . 4
1) - 2) — 3)— 4) -
( J4 (2) = ( )14 (4) =
Options :
1 % 1
2. ¥ 2
3 % 3
4 % 4

Question Number : 82 Question Id : 9126062739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

The greatest integer not exceeding 2180 which 1s divisible by 13 is

13 & erfodeadén 2180 &0 o (16 rgrogo?

(1) 2184 (2) 2158 (3) 2171 (4) 2169

Options :
1.%1
2. %2
3.¢3
4. % 4

Question Number : 83 Question Id : 9126062740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3eh aomgaa

The number of positive divisors of 37800 157

37800 cﬁus% G rasre “rooaaé?

(1) 95 (2) 96 (3) 98 (4) 102

Options :
1. %1
2.2
3% 3
4. % 4

Question Number : 84 Question Id : 9126062741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes aomgaa

‘What 1s the least square number which is divisible by 3. 4. 5 and 67

3.4.5. 6 0B 2PAoDRELOD) BB VD) DG Vozdy H&?

(1) 1600 (2) 900 (3) 800 (4) 400

Options :
1. %1
2. ¥z
3% 32
4. % 4

Question Number : 85 Question Id : 9126062742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3eh aomgaa

If 398. 436 and 542 are divided by k the respective remainders are 7. 11 and 15

then the largest value of k 1s?

398. 436. 542 v k & erfome bﬂi&%‘ﬂ“w Scodme 7. 11, 15 ewond k glere]
enS?

(1) 34 (2) 27 (3) 19 (4) 17

Options :
1. %1
= %z
3% 32
4 v 4



Question Number : 86 Question Id : 9126062743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3S 3»:.13%@

LI X 176 %175+126:%1.25 x1.25
IS X A5 -1 1255125 R 12N

(1)1 (2) 2 (3)3 (4) 4

Options :
1. %1
2. % 2
3.¥ 3
4 % 4

Question Number : 87 Question Id : 9126062744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00&re3eh 3»:.13%@

(4)

—
|
—
=1 |
A
[
pa—
|
T
Lad
e
1| e

W~

Options :
1. %1
2. % 2
3%z
4 9 4

Question Number : 88 Question Id : 9126062745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes &m%a

Ifa=§, b=$., c=i—? a.ndd=i—;then

a=%, b=3—f, =% andd=% e95))CD
(l)a<b<c<d (2) d<c<a<b
(3)a<d<b<c (4) d<a<c<b

Options :
1. %1
2. %2
3% 3
4 v 4

Question Number : 89 Question Id : 9126062746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes aomgaa

T . ; 6 5 9 8 7
What 1s the ascending order of the fractions —, —, —, —, =7
= 117 14710 " 13" 0
6 5 9 8 7
—, —, —, —, - O esBIragHNE?
119 8" 207 130 2
9 5 8 7 i 0, B 8

{]-}_ e s (L] T T e

i 10’14 "13 "9 14 "11 i3 10

9 7 6 8 5 7 9 8 6 5
Yy Nie fmmimites e
()1[1'9’1 13" 14 ()9'10 3741 * 14
Options :
1. %1
o o
3 %3
4 % 4

Question Number : 90 Question Id : 9126062747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00&re3eh aemgaa

If 2a% of b is ¢ then 3a% of 5b 1s?

b & 2a% c esoed, 5b &£ 3a% =

(1) 10c (2) ¢ (3) T3¢ (4) 15c

Options :
1.% 1
= %z
3.¢3
4 % 4



Question Number : 91 Question Id : 9126062748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3h aemgaa

In an examination minimum pass percentage i1s 40. If a candidate gets 75 marks

and fails by 235 marks then the maximum mark in the examination 1s?

208 D6LS” eAGS FBotdtrS &0 40% A6 o0 Torrdy eota0d. 2.8
@B 75 Ay en TodDDYBS 25 Ardyen 3hy S SHEo HY G

& & =g
STET S, 8 DOLES” (505 Soedo) en?

(1) 200 (2) 225 (3) 250 (4) 300

Options :
1. % 1
o ® 2
3. v 3
4 % 4

Question Number : 92 Question Id : 9126062749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
evogieded aomgée

A person sold a table at profit of 6%%. Had he sold it for Rs. 1250 more. he
would have gained 19%. Then the cost of that table (in rupees) 1s?

28 S8 w8 Seds D 6%% 2P S 0. ¥3B (DS 6r.1250 Ros®
.Ds‘ozjas) wﬁb& €0GO8B 19% erzlo (.ol3aorc. e Sees § Q) &6
(drraes’)?

(1) 12500 (2) 12000 (3) 10250 (4) 10000

Options :
1. %1



o ® o
3. ¥ 3
4 v 4

Question Number : 93 Question Id : 9126062750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

oS Hedd aom%e:s

A person purchased a property and sold % th of the property with 10% profit. If

he receives Rs. 120000 as profit through part of the sale. then total price of the

property (in lakhs of rupees) 1s?

28 B8 E2) 3D S % S0a020 10% ererdS 0do) HDR. SEoe Jodd

erzdo 6. 120000 e0ndd, 2odo e &6 (Ve draraDe”’)

(1) 25 (2) 26 (3)23 (4) 24
Options :
1. %1
o %D
. %3
4 v 4

Question Number : 94 Question Id : 9126062751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

P. Q and R invested capitals in the ratio 2 : 3 : 5. the timing of their
investments being in the ratio 4 : 5 : 6. In what ratio would their profits be

distributed?

P. Q. Ro Déwecow g 2 : 3 @ 5 5o o6 déwechien 1Mol seo

SIS IatEY .ﬁ‘!’q:le} 4:5:6 D 3)::13@@‘9 T°0 e DoV Eotod?

(1) 13:15:30 (2) 8:12:30 (3) 8:15:25 (4) 8:15:30

Options :
1. %1
2 ® 2
3. %3
4 v 4

Question Number : 95 Question Id : 9126062752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes &m%a

Ravi and Shyam are partners in a business. Ravi contributes p of the capital for

; 2 "
15 months and Shyvam receives - of the total profits. For how long Shyam'’s

money was in the business?

6 20Bosw Fo{ DS 208 aﬂéaﬂdné* PAIPLRAAD. e’ i S gy

15 SuoH 6D DJLFEYT | Jndo oo’ =D erTrd) T Tody.

aﬂé.%“doeﬁ‘; T TOGTI) S0 SPv HIOHE?

(1) 10 months (2) 8 months (3) 9 months (4) 6 months

10 Doen 8 Doen 0 Dowen 0 Qowew

Options :
1.¥1

2 %2
3. % 3
4. % 4

Question Number : 96 Question Id : 9126062753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

eosredd swmg&a

Three taps P. Q. R can separately fill a cistern in 6 min. 12 min and 15 min
respectively. While a fourth tap S can empty the cistern in 4 min. If all the four

taps are opened together when the cistern 1s empty. in what time (in minutes)

the cistern 1s full?

2007 deren P. Q. R en DADATT 2,8 S8 DG 6 Ddoaren, 12
Aodren, 15 ddodrod” Jodrvd) s 6" S-S & FBI 4 Ddodrees’
¥ BODAVE. T VT &0 QY TR PPV wEID B0, TG

Dot HE DAODO (AJTY’) dodh?

(1) 10 (2) 12 (3) 15 (4) 20
Options :
1. %1
2 82
3. v 3
4 % 4

Question Number : 97 Question Id : 9126062754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes &m%a

Pipes P and Q can fill a cistern in 12 munutes and 15 munutes respectively.
Both are opened together but after 3 minutes P is turned off. After how much

more time (in minutes) will the cistern be filled?

Coc P P. Q en 208 8 adodme 12 ddoaren. 15 Adoareg” Dodro.

3 Ddare et GoloddD wEID 3dord P2 2055558, €3  Jdodd

RAao(Ddwary’) &° F& Jodrerdy?

(1) 8 @) & (3)9 ) &

Options :
1. %1
= %z
3. %3
4 v 4

Question Number : 98 Question Id : 9126062755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

1 ; : : E
A man travels = of the total distance with a speed of 40 kmph. = distance at a

speed of 50 kmph and the remaining distance at a speed of 100 kmph. Then the

average speed in kmph 1s?

208 2002 2Po Grdoss” ~ B D) Aoy 40 8.8, Do, £ B )
oy 50 &.5. 6o . AdS aroedy ot 100 &5, Bros

HOIEI0BR). DL Do oty &.8.e5°

(1) 64 (2) 48 (3) 56 4) 72

Options :
1. %1
2 ¥z
3% 32
4 % 4

Question Number : 99 Question Id : 9126062756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

A person travels from his home to office at a speed of 20 kmph and reaches
office late by 15 min. Next day he travels at a speed of 30 kmph and reaches

office 15 mun early. Then the distance from his home to office in k.m.s 1s?

28 (8 B o) Jod SToLAIrDS (osrd 20 $.2. Do waedsTT 15
D0 0RO BEL0DDI. 6 Bar oty 30 &.2o. Do
L0VBAG™ 15 DAL BV BEIEDRY. 9 wsd Qo) &od

SOOI S Bocs| Grdo 8. 2. s’

(1) 25 (2) 30 (3) 35 (4) 40

Options :
1. %1
2 ¥z
3% 3
4. % 4

Question Number : 100 Question Id : 9126062757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes &m%a

Mir. A alone can finish a piece of work 1n 24 days. For the same work. to finish
alone B and C require 18 days and 12 days respectively. The 3 persons worked
for 4 days and then A left the job. then the number of days required to finish

the remaining work by B and C together 1s?

A 0008¢0 2.8 DI 24 Beres” HPdBoLALE. A8 DI DéDém B. C e
Seo0me 18, 12 Berg’ rotabrod. S Syen 4 e 925 0
B, A DID 5689 2F)R0. ADD DI B. € e £ Lrodainerysd Héw

&ere) SEENY

(1) 2 (2) 3 £
Options :
1.v1
= %z
3% 32
4 % 4

L%
e
ol

(4) 5

Question Number : 101 Question Id : 9126062758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e0SHeIh aomgaa

: 4 .
If a person requires 36 hours to do - th of a work the number of additional
hours required to complete the work 1s?

208 DS %;ﬁ Dot DA PO BaDEEIS 36 Hodre DHVG0 o es DA
38 BoDEIS SPHVD WESHIY Dvado (Hobee’)

(1) 6 (2) 8 (3)9 (4) 18
Options :
1.%1
o R o

3.¢ 3
4 % 4

Question Number : 102 Question Id : 9126062759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e0Sreded &m%a

The sides of a rectangular plot of land are in the ratio 2:3 and its area 1s 29400

sq meters. The cost (in rupees) of the putting up a fence around the plot at the

rate of Rs. 50 per meter 1s?

2:3 Dy 3" oo 9D AEBBEI S Reo PO 29400 ..
e 28) 088 6. 500 SXYS, & 200 Bt oD Vo7 ew BoPE=IS
eocdg GOy (6. ere5°)

(1) 35000 (2) 36000 (3) 40000 (4) 42000

Options :



1.¥1
2% 2
3. % 3
4 % 4

Question Number : 103 Question Id : 9126062760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3ed &m%a

If a thombus has diagonals of length 18 cm and 24 cm. then its area (in sq.cm)
15
28 DB BBOENRL) DST0 TEHe 18 20.20. 20830 24 2o.db.

VORI T PFTOL0 (5. 20.20.¢5°)

(1) 42 (2) 84 (3)432 (4) 216

Options :
1. %1
2. %2
3% 3
4. ¥ 4

Question Number : 104 Question Id : 9126062761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes aomgaa

A rectangular sheet of dimensions 22 m X 10 m 1s rolled into a cylinder so that

the smaller side becomes the height. The volume of the cylinder (in cu. cm) 1s

2220. X 100. Soden (03 HESSCIS 6 G0 DB Foro PO ol

QDO BLBES, &8 R WJDBITO (20. . we5°)

{1) @ {,.}} 1250 (%)@ {4) 1000

T ' T o T

Options :
1. %1
2 %2
2. v 3
4 % 4

Question Number : 105 Question Id : 9126062762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00EHE3eh avmgaa

: ; 5 :
In a circle of radius 7 cm. the area of a sector 1s — Q. cm. The sectorial angle

7 20.80. TIPorr (0 Dydoes” ws DEE PFOo ?3—? 5. 20.2. oS VL5
&0
(1) 30° (2) 45° (3) 60° (4) 90°

Options :

1.%1
2. %2



3.¢3
4 % 4

Question Number : 106 Question Id : 9126062763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d &m%a

The height of a cylindrical drum is 7 cm and the difference between the outer

and inner surface areas is 44 sq cm. The thickness of the drum 1s? (Take
S
™

7 0.2, 0 ggga ‘gr.ﬂvsﬂd €eaa00), A300E) 877 SOOI Wods &DOSV

LT[R BSS0 44 B, Do.. HORIDHED &F Cad) AN V0N ?

(i = % M S08 H050)
(1) 0.5cm (2) 0.75cm (3) 1.0cm (4) 1.25¢cm
0.5 0. 0.75 0.2 1.0 ®0.20 1.25 20.20

Options :
1. %1
o %z
3. v 3
4. % 4

Question Number : 107 Question Id : 9126062764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

The area of a rhombus whose side and height are 12 cm and 26 cm
respectively.

00t 12 20.b. e, oS0 26 20.20. TRAF 6o BB DFV(07

(1) 284 sq.cm (2) 340 sq.cm (3) 234 sq.cm (4) 312 sq.cm

284 &5.20.50. 340 ¢5.20.50. 234 ¢5.290.20. 312 e5.20.90.

Options :
1. %1
2. %2
3.%3
4 ¥ 4

Question Number : 108 Question Id : 9126062765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Eedeh &mg{'@

The smallest side of a triangle 1s 9 cm and 1ts angles are 90°. 60°, 30°. Then the

area of the triangle (in square centimeters)

90°. 60°. 30" &0 e 8D Hzv20e" wejos D) oS o TED

9 250.80. DAVIINE 8 Ao 2TV (8.20.20. @e5°)

(1) SV3 (2) 81 35 (4) 813

Options :
1.v1



2 %2
3. %3
4. % 4

Question Number : 109 Question Id : 9126062766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Sic3ed aomgaa

If 1397 =y (mod 144) and 0< y < 143 then y =

1397 = y (mod 144) 08a30 0< ¥y < 143 oD ¥y =

(1) 101 (2) 145 (3) 245 (4) 201

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 110 Question Id : 9126062767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d aemgaa

(110110011), =

(1) 331 (2) 445 (3) 439 (4) 435

Options :
1. %1
2. %2
3% 3
4 ¥ 4



Question Number : 111 Question Id : 9126062768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEa0. w?gz)ae‘.’éo:‘u &)nmgs@

If p and q are two statements then ~(pAq) 1s equivalent to

P. q &0 806 DIDBT LA ~(prq) 8 BovgS

(1) (~p)rq (2) (~p)A(~q) (3)pV(~q) (4) pvq

Options :
1.9 1

2. %2
3% 3
4. % 4
Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded to all candidates.

Question Number : 112 Question Id : 9126062769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEAD. aav?g:)ae‘.’ao:ﬁ &mgsa

~ (pv(~ pAq)) 1s equivalent to

~ (pv(~ pAq)) S SooEa0IS

(1) pA(~q) (2) ~pAq (3) ~pAr(~q) (4) ~pv(~q)

Options :
1.% 1
2. %2
3.¢3
4. % 4



Question Number : 113 Question Id : 9126062770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE 0. w?sz)ae‘.’éo:b aﬂmgs@

If f(x) = ; = and g(x) = N then (f o g)x =

—y=

X
- wowd (fog)x=

()= 7=

1—x= 14x2

; @) |1

Options :
1. %1
2. %2
3% 3
4 v 4

Question Number : 114 Question Id : 9126062771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA 0. w?sibe‘.’éo:b avmgs@

Ifix|<land fix)=1+x+ X then £ (x)=
x| <l PO fR)=1+x+x7+...... oI f 1 (x)=
e 2 1 | ; %
M= @
Options :

1.%1



2 %2
3.¢3
4. % 4

Question Number : 115 Question Id : 9126062772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. wsﬁ)aéoﬁ: &m%@

1
x241

The domain of the function f(x) = is

f(x)= VICIR) DBBO

x24+1

(DR (2) R-{1} (3) R-{—1} (4) R-{1,—1}

Options :
1.91

o %2
2. %3
4. % 4

Question Number : 116 Question Id : 9126062773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

The area of the region (in sq. units) bounded by v = |x|-5 with the coordinates
axes 18

y = [x]-5. DErHE ozrods BB Jrod DTve (BHGY chrILS’)

(1) 15 (2) 20 (3) 25 (4) 50

Options :
1.%1
= %z
3.¢3
4 % 4

Question Number : 117 Question Id : 9126062774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}gaaém &mgse:s

The equation of the line passing through the point of intersection of the lines

3x+4y+5=0 and 4x+y-2=0 and perpendicular to the line g + % =11s

3XH4YH5=0 208050 4x+y-2=0 D B0 Dokd DooD) Mot Nd §+ :’2&1

00 D0S) LoOTT ok A0V O “HAE6em0.

(1) 2x-5y-12=0 (2) 2x+5y+8=0

(3) 5x+2y-1=0 (4) 5x-2y-9=0

Options :
1.%1
= %z
3% 32
4 v 4

Question Number : 118 Question Id : 9126062775 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. wlgaaécm &mgse:s

I£2 cot@ = 3. then 2cos 8 —sin @ =

2cos B4+ sin 8

1

L) V2

P
R ]
i
P | b=

)
W =

L | P

Options :
1. %1



oo
3 % 3
4 % 4

Question Number : 119 Question Id : 9126062776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEAD. w?gzbe‘:aam avmgsers

(1 4tan17°) (1 + tan28°) =

(1)1 (2) 2 (3) 3 (4) 4

Options :
1. %1
2 ¥z
3% 32
4 % 4

Question Number : 120 Question Id : 9126062777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEAD. w?gzbe‘:aam avmgsers

3tan A—tan34
1-3tanZAa

(1) cot 3A (2) tan 2A (3) tan 3A (4) cot 2A

Options :
1. %1
= %z
3.¢3
4. % 4



Question Number : 121 Question Id : 9126062778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEa0. w?si)ae‘.’éoﬁ: &)nmgs@

A person walking along a straight road towards a hill observes at two points

with distance v/3 km. between them the angles of elevation of the hill to be 30"

and 60°. What is the height of the hill?

28 Fott DY) DBV B D6 SRV I58 V3 8.0, ArGes” &) Toc
DocPpo Mod & Soct g &g Emomd 30°. 607 mr (2DodDans. &

Sock dh?

(1) ? km (2) %km (3) 1 km (4) gkln
Options :
1. % 1
o %2
3. % 3
4. v 4

Question Number : 122 Question Id : 9126062779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}g:bém &m%@

J(ab — ac — bc)? + 4abc(a + b) =
(1)ab + bc + ca (2) ab — be + ca

(3) ab + bc — ca (4) ab — bec — ca

Options :
1.v¥1

o %2
3. % 3
4. % 4

Question Number : 123 Question Id : 9126062780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA, w5:)aém aumgse:s

& e ) ¥ o
a+btret=9a+h =27 ab+rhetea=

(1) 24 (2) 25 (3) 27 (4) 28

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 124 Question Id : 9126062781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEa0. wsaaém &)nmgsa

If x>-3x+2 is a factor of x°>-6x+ax+b. then (a.b)=7"

X-6X"+ax+h D& x7-3x+2 2.8 soSrTogo wond (a.b) =7

(1) (-11.-6) (2) (11.6) (3)(-11.6) (4) (11.-6)

Options :
1.% 1
= %z
3% 32
4 v 4

Question Number : 125 Question Id : 9126062782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w}s&'be‘.’écm &mgs@

The remainder obtained when 9'° + 6 is divided by 8 is

9%+ 6 &0 8 & rRoBIYE Sty 30
(1) 3 (2) 5 (3)7 (4) 4

Options :
1. %1
2. ® 2
2.¥3
4 % 4



Question Number : 126 Question Id : 9126062783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA oD, wsﬁ)aéoﬁ: &m%@

B 15 10 9

+ =8and ———=72 then 3x-F 2y=
x+y x—y xty X—3

It

6 15 10 9
=

~ =
; 2 wonead 3x+ 2y =
x+y x—y x+y X—=¥y T =y

—_— —— i ok
(1) 6 @) 6; (3) 7 4) 75

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 127 Question Id : 9126062784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}gaae‘.am évmgse:s

In a triangle PQR. £P= X, Q= 3x°, /R = }'G. If 3y-5x=30. then the triangle 1s

208 8zomo PQR &8° £P=x" 2q=3x". ZR =y’ 3y-5x=30 eond 93 &

SO0
(1) Equilateral (2) Isosceles
ReET°aTVEY) RDVBCET T
(3) Right angled (4) Not a right angled
®o0e Esado ©o2) E3oio 260
Options :
1. %1
o %o
3. v 3
4. % 4

Question Number : 128 Question Id : 9126062785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

If-22 is the n™ term of the arithmetic progression 5, 2. -1........thenn =

@083G 5.2, -1....... &° -22 @36 1 S DS n=

(1) 12 (2) 11 (3)9 (4) 10

Options :
1.%1
= %z
3% 32
4 v 4

Question Number : 129 Question Id : 9126062786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}gaaém &mgse:s

. . ; .
If the sum of the first three terms of a geometric progression is = and 1if their
product 1s 1. Then common ratio 1s

208 (DHNRBES'D DL 2P Horw Do E v PGr, o0 Lo | wad

(1) = @) = (3)5 OF

Options :
1. %1
2. ¥z
3. %3
4 % 4

Question Number : 130 Question Id : 9126062787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE 0. wsz);ém &mgsa

If the 21% and 22™ terms in the expansion of (1 4 x)** are equal then x =

(14 x)* D26’ 21, 22 S Hored DIATIIB. VPIVE X =

OF @ < (3)2 ) o



Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 131 Question Id : 9126062788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Yout) w}so")aéoﬁn avmgs@

(1+V3)°+ (1—+3)¢=

(1) 436 (2) 386 (3) 368 (4) 416

Options :
1. %1
2. %2
3% 3
4. ¥ 4

Question Number : 132 Question Id : 9126062789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

0 0 1 L 9 0 5 I 1715
IfA=|{0 1 0)andB=|{0 1 0 |thenA ™ B +A B =
1 0 O ¢ 0 1

0 0 1 10 0 15+ 17 1713
A=(0 1 D).B=(0 1 0) wond A B +A''B 7=

| S 0 0 1

(1) 2A (2) 2B (3) A+B (4) 2(A+B)

Options :
1.¢1

o %2
3. % 3
4. % 4

Question Number : 133 Question Id : 9126062790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}g:bém &mgse:s

a b c
If a. b. ¢ are three distinct positive real numbers and if A=|b ¢ a| then
c a b
¢ b T
a.b.cen K)i).;‘)(l T°RD ROPVDBF A= [h ¢ a| WANB WP
¢ i@ b
(1) A=0 (2) A=0 3)A<O (4) A<O

Options :
1.%1
= %z
3% 32
4 v 4

Question Number : 134 Question Id : 9126062791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. wlsi'béma &mgse:s

x2—5x+4

lim o SR G
X1 02 3,49

(1) 0 (2) 2 (3)3 (4) 4



Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 135 Question Id : 9126062792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Yout) w}so")aéoﬁn avmgs@

- 1+tan x dy
= tan [Z22] o 2=
Y dx

1—tan x

(1)1 (2) 2 (3)0 (4) -1

Options :
1.v1

2 %2
3. % 3
4. % 4

Question Number : 136 Question Id : 9126062793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}g:bém éumgse:s

PQRS is a square with diagonal a + b. The perimeter of the square whose area
is twice that of PQRS 15

PQRS 03& o"}ggo a+ b e g Sdocdo. PQRS E?“E“Baé o080 DFf0
(0 SBIGRY PSS

(1) 2(a+b) (2) 4(a+h) (3) V8 (a+b) (4) 8ab

Options :
1.% 1
2. ¥z
3% 32
4 % 4

Question Number : 137 Question Id : 9126062794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

In a triangle the point of concurrence of internal bisectors of its angles 1s called
its

208 Qz020e5° Strod RO WoER Bw NS DoY)

(1) Centroid (2) Circum-centre
So&erRdo 00Dy Sodo
(3) Ortho-centre (4) In-centre
Lo Sodo 0080 Sogdo
Options :
1% 1
o % 2
3. % 3
4 v 4

Question Number : 138 Question Id : 9126062795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

A. B. C. D are four pomnts on a circle AC and BD intersect at E such that

/BEC= 130" and £ECD = 20°. Then 2BAC=

A. B. C. D a0 28 S0 a8 Trenrd Dododen. AC. BDev E 3¢
podouwSotar, ZBEC= 130", ZECD = 20" excogenm o. e0xyyeo ZBAC=

(1) 90° 2) 100° (3) 110° (4) 120°

Options :
1. %1
= %z
3.¢3
4. % 4

Question Number : 139 Question Id : 9126062796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}s&'bécm &mgs@

The area (in sq units) of the triangle formed by the pomts (1. 2), (3. 4) and the
origin is

Docopen (1. 2). (3. 4) 2w DodPHUE VoyE Az PFulo (8.

oo ees”)

(1) 1 (2) 2 (3)

(4)

ra | L

Options :
1. ¥ 1

= B2
3 ® 3
4 % 4

Question Number : 140 Question Id : 9126062797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, w}g.‘mé@ ;‘an;:ugse:s

If the points A(1. 2). B(3. -4). C(5. -6) and D(11. -8) lie on a circle. then the

center of the circle is

Docospew A(l. 2). B(3. -4). C(5. -6). D(11. -8) en 28 Hydod ol &5 5y
Sogdo
(1) (11.2) (2) (-11,2) (3) (-11.-2) (4) (11.-2)

Options :
1. ¥ 1



2 %2
3. %3
4. % 4

Question Number : 141 Question Id : 9126062798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
FoD(ETR I8 S

If the arithmetic mean of 17. 2a-b. 2b-c and 2¢-a 1s 20 then the arithmetic mean

of a.b. c1s

17.2a-b. 2b-¢c. 2c-a & woémqﬂémo 20eond a. b.c o ucsm¢5mo

(1) 17 (2) 19 (3) 21 (4) 23

Options :
1.%1
2. %2
3.¢3
4. % 4

Question Number : 142 Question Id : 9126062799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
&omﬁswg 5““:"35@

The median of the observations 7. 5.2.6.4.3.15.14.19. 25.8.11. 13 15

HOFVHe 7.5,.2,6.4,.3.15.14.19.25.8.11. 13 © Q0o

(1) 15 (2) 14 (3)8 (4) 7

Options :



1. %1
2 %2
3.¥ 3
4. % 4

Question Number : 143 Question Id : 9126062800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&oa_ass?“‘g ﬂﬂmgﬁ@

The mode of the following data

Sod BSTroFY) eIrTUFEo

X: 2 3 5 7 9 10
Cumulative 21 44 68 74 105 123
frequency

Loded 31@@@50

(1) 10 (2) 9 3)5 4) 3

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 144 Question Id : 9126062801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

3"::34359?“@ Svmgée:a

The standard deviation of 12, 16.23.18.24. 151s

12.16.23.18.24. 15 © Jraoreds doserdo

45 . 110 S5 55
wE o of o

Options :
1.%1
o %2
3 ¥ 3
4 ¥ 4

Question Number : 145 Question Id : 9126062802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
&ow?gswg av:ngs@

If x # 0 then the vartanceofx + 1, x+2,x+3,x+ 7, x+8,x + 9 1s

x# 0wond x+ 1, x+2,x+3,x+7,x+8x+9 0 B

= 2) = (3)\/2;9 4) 5

Options :
1. % 1
2.2
. %3
4 % 4

Question Number : 146 Question Id : 9126062803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

bvoa:?gs?ﬂ@ 5“;“”36@

From a well-shuffled deck of playing cards the probability of choosing a card

at random which 1s either a red card or an ace. 15

et SDDD DS S8 AWod) CISHLINSOTT DoDE BID 28 57X . Y S°D M

Soe 208 52 520 9_9::335 PDoeTd(S

(1) 5 @ = @ OF

Options :
1. %1
2 ® 2
3% 32
4 v 4

Question Number : 147 Question Id : 9126062804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

aoo@?sg?@ 5“4‘-035@

The probability for a number chosen at random from the first 32 natural

numbers to be a composite, is
206S 32 Dire Dojwe” Ao & AIrESI\ S0 JoDdE BAD Doy W
Ro0IVE Doa| AR Voz"O

(1)

o |t

) 5 35 (4) =

Options :
1.v1



2 %2
3. %3
4. % 4

Question Number : 148 Question Id : 9126062805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&omﬁswg svmgs@

A bag contains 8 white balls and 6 red balls. The probability of drawing at

random two balls of the same colour 1s

228 2oDS” § BY. 6IG L0 &T°) . CITED ST 2.8 Bord (o Bt

22080080 DonE B oIS

43
88

(1)

43 5y 43 46
(2) = Lﬂ% (4) =

Options :
1. %1
2. 2
5 %3
4. % 4

Question Number : 149 Question Id : 9126062806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

avoaaﬁs?u@ svmgs@

A six sided faiwr die 1s rolled 3 times. Then the probability that the face with the

number 6 on it will not face upward on the three occasions is

Dar 88 et 20e70 D88 DS 3 TG EPomrdd. WD &8 J0T

ROGT G A D08 6 2 BP0 A TG E0krdS Vogrd(S

(1) 52 @) 3 3) 5 @ =

Options :
1. %1
2 % 2
3% 3
4 v 4

Question Number : 150 Question Id : 9126062807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

avoaaﬁs?u@ svmgs@

The probability that P and Q get the scholarship are 0.6 and 0.8 respectively.

Then the probability that exactly one of P. Q gets the scholarship is

P. Q 0% edsdda0 ;5{.3‘:: FGOE;“:)S@EH SoRdme 0.6 Hodadn 0.8. QDN

P.Q ee5° 2,8 2,8),08 &DSEIBI0B VoIS

(1) 5 2 5 (3) = (4) =

Options :
1.% 1
2. %2
3% 3
4 v 4

Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 9126062808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Surmise

(1) summarise
(2) guess

(3) submut

(4) refine



Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 152 Question Id : 9126062809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Replete

(1) pause
(2) repeat
(3) full of
(4) plead

Options :
1. %1
2. % 2
3.¥ 32
4 % 4

Question Number : 153 Question Id : 9126062810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Squalid

(1) shppery
(2) dirty
(3) careless
(4) sleepy

Options :

1. %1

2. ¢ 2

3. %3

4. % 4

Question Number : 154 Question Id : 9126062811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

Liaise

(1) accomplish
(2) responsible
(3) cooperate
(4) uniform

Options :
1. %1
2 = 2
3.¢¥3
4 % 4

Question Number : 155 Question Id : 9126062812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Nonplussed

(1) confused
(2) ridiculous
(3) frightened
(4) happy

Options :
1.91
2 = 2
3%z
4 % 4

Question Number : 156 Question Id : 9126062813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

Postulate

(1) post

(2) holy

(3) effective
(4) suggest

Options :
1. %1
2 = Z
3% 3
4 9 4

Question Number : 157 Question Id : 9126062814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

Studies show that there is a/an between obesity and food
habits.
(1) Iink

(2) apathy
(3) aversion
(4) racket

Options :
1.91
2 = 2
3% 3
4 % 4

Question Number : 158 Question Id : 9126062815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

On important religious festival days. there is huge of
worshippers at the temples.

(1)syndicate

(2) constellation
(3) swarm

(4) congregation

Options :
1. %1
2 = 2
3% 3
4 9 4
Question Number : 159 Question Id : 9126062816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

The basic of a democracy 1s that it treats all people equal.

(1) tenacity
(2) tenet
(3) texture
(4) tenure

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 160 Question Id : 9126062817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

A member of the opposition has made remarks about his
leader.

(1) diligent
(2) depraved
(3) derogatory
(4) dwindling

Options :

1% 1

o % 2

3.¢3

4 % 4

Question Number : 161 Question Id : 9126062818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
FTP stands for

(1)File Transfer Portability
(2)File Transfer Protocol
(3) File Transparent Protocol
(4) File Transfer Practice
Options :
1. %1
2. 2
3. %3
4. % 4

Question Number : 162 Question Id : 9126062819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A code of good conduct on the intemet is referred to as

(1) netiquette
(2) net protocol
(3) net code

(4) net manners

Options :



1.¥1
2 %2
3. % 3
4. % 4

Question Number : 163 Question Id : 9126062820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

DRAM stands for

(1) Dynamic Running Access Memory
(2) Dynamic Random Access Memory
(3) Dynamic Reference Access Module
(4) Digital Robot Access Memory

Options :
1. %1
2.2
3% 3
4 % 4

Question Number : 164 Question Id : 9126062821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

What 1s meta data?

(1) data about data

(2) graphical data

(3) data collected through survey
(4) data in a file

Options :
1.v1
2. % 2
3% 3
4 % 4

Question Number : 165 Question Id : 9126062822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

From an information systems audit perspective, which of the following 1s
the most valuable asset in an information systems facility?

(1)Hardware
(2)Database
(3) Personnel
(4) Software

Options :

1. %1

o ® o

3. v 3

4 % 4

Question Number : 166 Question Id : 9126062823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Members of the Board of Directors of a company are part of the

(1)management of the company

(2) statf strength of the company
(3)advisors and consultants to the company
(4)marginal stakeholders of the company

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 167 Question Id : 9126062824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

The policy guidelines for sharing revenues between central government
and state governments is formulated by

(1)Finance Ministry
(2)Finance Commission
(3) RBI
(4) SEBI

Options :

1. %1

e

3 %3

4. % 4

Question Number : 168 Question Id : 9126062825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

WTO is an organization for promoting

(1)Bilateral trade between countries

(2) Multilateral trade between countries
(3) Thrift in spending at international level
(4) International service

Options :
1.% 1
2. ¥z
3% 3
4. % 4

Question Number : 169 Question Id : 9126062826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

With mcreasing consumption of a product. 1ts marginal utility

(1) goes up
(2) remains the same
(3) goes down
(4) keeps fluctuating
Options :
1% 1
2 %2
3 v3
4. % 4

Question Number : 170 Question Id : 9126062827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Which among the following media of advertisement 1s most interactive?

(1) Television
(2)Bill board
(3) Print media
(4) Internet

Options :

1. % 1

2 %2

3. % 3

4.v 4

Question Number : 171 Question Id : 9126062828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

The passive form of the sentence. “They have not addressed themselves to
the task, properly™ is

(1) The task has not addressed them properly
(2) The task has not been addressed by them properly
(3) The tasks have not been addressed by them properly
(4) The task was not addressed by them properly

Options :

1% 1

2. ¥z

3 %3

4 % 4

Question Number : 172 Question Id : 9126062829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Set aside all vour negative feelings and listen with an open mind. This
sentence implies that one should be

(1) tolerant
(2) indifferent
(3) passive

(4) biased

Options :
1.v1

o ® 2
3. % 3
4. % 4

Question Number : 173 Question Id : 9126062830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A: C“Aren’t vou cut up with me for the mess I created for you last
Monday’?
B: ‘Letbygones be by gone’.

‘B’ 15

(1) remorseful
(2) agitated
(3) careless
(4) forgiving

Options :
1.%1
= %z
3% 32
4 v 4

Question Number : 174 Question Id : 9126062831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A:  ~I presume yvour new boss 1s a great achiever and he’ll bring in a
turnaround”.

B:  “Well. I can only say that you are living in a fool's paradise™.
uB 3

(1) agrees with “A’

(2) implies that his new boss 1s a fool
(3) partially agrees with *A°

(4) completely disagrees with ‘A’

Options :
1.%1
2 %2
3.%3



4 v 4

Question Number : 175 Question Id : 9126062832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

No matter how sorry Alex for what happened. or how many times he
apologised or tried to make up for it. he couldn’t remove the hurt.

This sentence means that in undoing the hurt, Alex was

(1) partly successtul
(2) quite successful
(3) unsuccessiul
(4) careless
Options :
1% 1
o % 2
2. ¥ 3
4 % 4

Question Number : 176 Question Id : 9126062833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The government 1s mulling over a new tax regime
The underlined phrase means

(1) considering
(2) cancelling
(3) waiving

(4) postponing

Options :
1.v1

o ® 2
3. %3
4. % 4



Question Number : 177 Question Id : 9126062834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: “The volume of traffic on our city roads has risen by a hundred per
cent in the last one vear.”

B: “Really?”
‘B’s answer shows that he

(1) does not believe what “A” savs
(2) 1s surprised to hear the imnformation
(3) thinks ‘A’ is not telling the truth
(4) assumes the figures are made up
Options :
1. %1
2. 2
3. %3
4. % 4

Question Number : 178 Question Id : 9126062835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Fill in the blanks with the appropriate phrase / verb / preposition:

The boy is certainly bent mischief.
(1) on

(2) off

(3) through

(4) across

Options :
1.91

2 %2



3. %3
4. % 4

Question Number : 179 Question Id : 9126062836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Poverty should not prevent a person attempting to succeed
life.

(1) into
(2) from
(3) after
(4) with

Options :

1. %1

2. 2

3 %3

4. % 4

Question Number : 180 Question Id : 9126062837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

He showed a preference ready money.

(1)for
(2) at
(3) 1n
(4) of

Options :
1.91
2 = 2
3%z
4 % 4

Question Number : 181 Question Id : 9126062838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

I don’t know for how long I can with his rudeness.

(1) putup
(2) run down
(3) run after
(4) stand 1n

Options :
1.v1
2 %2
3% 3
4. % 4

Question Number : 182 Question Id : 9126062839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Recent medical research has made a in traditional medical
treatment.

(1) blow up
(2) break through
(3) run through

(4) plav down
Options :
1% 1
oo
3 %3
4 % 4

Question Number : 183 Question Id : 9126062840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

Why don’t you for a course that vou have an aptitude for?

(1) put up
(2) goin
(3) get around
(4) open up
Options :
1% 1
2.2
3. %3
4 % 4

Question Number : 184 Question Id : 9126062841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

The snake was fast to catch its prey.

(1) walking
(2) slithering
(3) shearing
(4) feeding

Options :

1% 1

2.2

3 %3

4 % 4

Question Number : 185 Question Id : 9126062842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

True religion does not require one to through force.

(1) proselytise
(2) persuade
(3) commend
(4) confuse

Options :

1.v1

o ® o

3 %3

4. % 4

Question Id : 9126062843 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)
Duestion Label : Comprehension



PART-4

Read the following passage and answer questions 36-40:

It 1s very likely that at one point or another during yvour employment. you
have been. or will be. asked to work on group projects. Although they can be
mteresting and challenging at times. 1t can become a stressful situation when the
members of the team do not pull their fair share of the load. Some do less than
others because their participation in the project does not require as much input,
but other co-workers might try to pawn their share of the work on their members
of the team. Unless you have the skill and inner strength to say “No”" to these
individuals who ask you to do their work for them. you are going to be in deep
trouble. However. sometimes getting overburdened has nothing to do with
people asking vou to take more on. but instead it 1s yvou not bemng able to tell
yourself ‘No™ — that 1s stopping yourself from taking on more than what is
actually vour responsibility because you may of the type that likes to take charge
of situations. If the problem lies with being asked to do more by one or more
members of the team. then vou need to work on learning how to say ‘No’ to
their requests. You need to be straight forward yet polite. You do not want to
give them any negotiating room.

Sub questions

Question Number : 186 Question Id : 9126062844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When can group projects become troublesome?

(1) When it 1s boring

(2) When 1t 1s difficult

(3) When others do not do their share of work
(4) When nobody bothers

Options :
1.%1
= %z
3.¢3
4 % 4



Question Number : 187 Question Id : 9126062845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When does *...........try to pawn their share of work ........ " mean?

(1) exchange their work
(2) exploit others
(3) bargain with others

(4) humiliate others
Options :
1.%1
=2 ¥z
3% 3
4. % 4
Question Number : 188 Question Id : 9126062846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

When can one be in ‘deep trouble™?

(1) if one 1s too accommodating
(2) if one does not have the skill
(3) 1f one 1s too lazy
(4) if one does not participate
Options :
1.v1
o % 2
3. %3
4 % 4

Question Number : 189 Question Id : 9126062847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why do some people ‘overburden themselves’?

(1) They have too much work
(2) They enjoy work
(3) They like to be in control
(4) They like to punish themselves
Options :
1. %1
o % 2
3 ¢3



4. % 4

Question Number : 190 Question Id : 9126062848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How can one prevent oneself from being taken advantage of?

(1) by being rude

(2) by being mefficient

(3) by being aggressive

(4) by learning to refuse politely

Options :
1. %1
2. % 2
3% 3
4. ¥ 4

Question Id : 9126062849 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)
Question Label : Comprehension



Read the following passage and answer questions 41-45:

‘Raviz Hotels and Resorts’ has been a name to reckon with in the
hospitality industry. Its commitment to providing traditional Kerala hospitality
coupled with world-class luxury, multi-cuisine dishes and unblemished service
has gained many an accolade for the group.

Situated in four different locations in Kerala. ‘Raviz’ stands tall and proud
in offering riverside, lakeside. seafront and city stays fo its guests. ‘Raviz’ by
far has been one of the most favourite holiday spots because of its diligent
selection of serene surroundings. proximity to water bodies and exquisite
facilities.

It 1s a ‘Raviz custom’ that everything traditional in 1ts originality. must be
provided to guests who seek it. Expert physicians, proper administration of
therapies and a number of other authentic Aywrveda treatments can be
experienced at ‘Raviz’. For reservations call toll free 1800425222200,

Sub questions

Question Number : 191 Question Id : 9126062850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the above passage?

(1) It 1s an essay

(2) It 1s an advertisement

(3) It is a review

(4) It1s a travelogue
Options :
1. % 1
o V2
2 % 3
4. % 4

Question Number : 192 Question Id : 9126062851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What 1s ‘Raviz’?

(1) It 1s name of a place

(2) It 1s an Ayurveda brand of medicine
(3) It 1s a hotel

(4) It 1s a tourist spot

Options :
1.%1
2. %2
3.¢3
4. % 4

Question Number : 193 Question Id : 9126062852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How many branches does ‘Raviz” have m Kerala?

(1) three
(2) four
(3) two
(4) one

Options :
1. %1
2. ¥z
3% 3
4. % 4

Question Number : 194 Question Id : 9126062853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s not mentioned as a feature of ‘Raviz’™?

(1) It provides traditional Kerala hospitality
(2) It provides Ayurveda therapies

(3) It provides only Kerala cuisine

(4) It provides excellent service

Options :
1. %1
2. %2



3.¢3
4. % 4

Question Number : 195 Question Id : 9126062854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1s not stated as a reason for ‘Raviz’ being a favourite holiday spot?

(1) availability of expert surgeons
(2) serene surroundings

(3) world class facilities

(4) Its close location to a waterbody

Options :
1.91
2. % 2
3% 3
4 = 4

Question Id : 9126062855 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Duestion Label : Comprehension



Read the following passage and answer questions 46-50:

A new US study has warned that adolescents who take performance
enhancing anabolic steroids are more likely to have adverse neural and
behavioural consequences like aggression and moodiness because of the steroids
effect on the underdeveloped brain and nervous system. The study by Northern
University in US. centered around a brain chemical called serotonin. which is
linked to mood. Lower levels of serotonin are associated with depression and
aggression. For the study. experiments were carried out on a strain of Syrian
hamsters. This breed has similar neurological circuitry to humans. so experts
felt it might be a good model for humans in this respect. The hamsters were
given a high dose of anabolic steroids over the course of the month — which
corresponded to five vears repeated dosage in humans. The researchers found
that the hamsters were more aggressive than those not given steroids and these

aggressive tendencies were mellowed if Prozac — a drug which boosts serotonin
“uptake” — was given. However. subsequent analysis showed significantly lower
than normal serotonin levels in the neural connections of the hamster’s brains.
This suggests there may be long-term effects of taking steroids while the brain 1s
still developing. Professor Richard Melloni who helped run the study. was
quoted as saying by BBC: “We know steroids affect the development of
serotonin nerve cells. which in turn. decreases serotonin availability in the brain.
The serotonin neural system i1s developing during adolescence and the use of
anabolic steroids during this critical period appears to have immediate neural
and behavioural consequences”.

Sub questions

Question Number : 196 Question Id : 9126062856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Upon which breed of mammals were the experiments carried out?

(1) adolescents

(2) Syrian hamsters
(3) Sicilian gangsters
(4) Italian hamsters

Options :
1. %1
2o
3% 3
4. % 4

Question Number : 197 Question Id : 9126062857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which i1s the drug used for boosting serotonin ‘uptake’™

(1)Penicillin
(2)Melanin
(3) Enthrocytes
(4) Prozac
Options :
1. %1
o % 2
3 %3
4 v 4

Question Number : 198 Question Id : 9126062858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why do adolescents develop neural disorders?

(1) The effect of steroids hampers the growth of the brain
(2) Due to decrease 1 the level of serotonin in the blood
(3) Steroids affect the underdeveloped brain more
(4) Prozac makes adolescents aggressive

Options :

1.v1

o ® o



3. %3
4. % 4

Question Number : 199 Question Id : 9126062859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was the specific charactenistic of the ‘breed’ selected for the
experiment?

(1) They were similar to human in their metabolic function.

(2) They were easily available.

(3) They have a similar neurological circuitry as human beings.
(4) They can withstand high dose of steroids.

Options :
1.% 1
2. %2
3.¢3
4. % 4

Question Number : 200 Question Id : 9126062860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How would one best describe the passage?

(1) philosophical
(2) scientific

(3) speculative
(4) senunary

Options :
1. %1
2. ¥z
3% 3
4 % 4
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